Grille de correction
Anglais
Série Cet D
Session 2017

PARTS UNITS : GENERAL OBJETIVES: SPECIFIC OBJECTIVES: MARKS
INTERNATIONAL | Students will be able to Students will be able to state
ORGANISATION | communicate about the role of | solution for social problem and to
international organization. report on the aims of it
organization.
A- READING
COMPREHENSION 1)
a) synonym of “remaining” = staying 0.5
l. VOCABULARY b) opposite of “more” is less 0.5
. True or false or ING 1) Today in Africa, people eat as they please. False. “there is less food per person” 0.5
2) Today, in Africa, government looks after the hunger victims. True. “they spend very | 0.5
little time helping hunger victims.”
1. Answer
1) In Africa, there is less food per person than there was in 1960. 1
2) In Ethiopia and Chad, the hunger victims don’t get any convenient help. Because | 1
the government in this country are poorly run.
1

3) According to the text, hunger is the consequences of the drought.




V. Re-order

B- GRAMMAR IN USE

l. Fill the appropriate
grammatical items

C- INDIRECT TEST OF
SPEAKING

1- Matching

3) Nowadays, in Africa, there is lack of food.

1) Hunger is caused by the bad agricultural action plan

2) Drought stricken people don’t benefit from any suitable help.

4) The hunger problem is also due to the bad means of conveyance.

More and more young people want to live on their own.
They don’t want to depend on their parents. But if their parents don’t help at all they
may/ can/ will have a lot of problems.
1- On 3- but
2- On 4- may / can/ will

0.5
0.5
0.5
0.5

(0.25x4)




2- Complete the dialogue

D- WRITING

Sam: Hello Jim! Are you free on Saturday afternoon?

Jim: Yes, | am. Why?

Sam: | organize a party at home. Would you like to come?

Jim: Yes, sure? What time?

Sam: At 3 p.m.

Jim: Ok. Would you like me to bring something to drink?

Sam: That’s very kind of you, but everything is already all right!
Jim: Right! See you on then then! (OK. All right.)

Sam: See you, Jim! Thank you in advance for coming.

Jim: You’re welcome.

Parents are the pillar for the future of their children.Yetit can’t be denied that: “Children
from a broken family can’t have a bright future”. What might be the reasons proving that?
Let’sanalyses it below.

Both parents and children try to survive because they are a broken family. With this
situation, parents must get up earlier and go back home later to subsidize their family needs.

So, they don’ t has much time to take care, to rise, to talk, to love, to educate their children.




In addition, time is money for them. Because parents may be a single parent or separated
parent or divorced parent. Thus, it’s a bit difficult situation to give them a better future
cause they lead a hard life family. We can conclude that children from a broken family can’t

have a bright future.
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